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Question Number : 336 Question Id : 226895667812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following states that a specific and definite action is to be taken or not to be taken?

1. Rule

2. Policy

3. Strategy
4. Procedure

Options :

2268952589078. 1
2268952589079. 2
2268952589080. 3
2268952589081. 4

Question Number : 336 Question Id : 226895667812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. 409
2. it
3. 30
4. Tfepar

Options :

2268952589078. 1
2268952589079. 2
2268952589080. 3
2268952589081. 4

Question Number : 337 Question Id : 226895667813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The sum total of all individuals, institutions and other forces that are outside the control of a business firm, but that
may affect its performance is known as:

1. Business Management

2. Business Environment

3. Business Decision making

4. Entrepreneurship Development

Options :

2268952589082. 1
2268952589083. 2
2268952589084. 3
2268952589085. 4

Question Number : 337 Question Id : 226895667813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. 090 Uey
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4. Feifran fawrg

Options :

2268952589082. 1
2268952589083. 2
2268952589084. 3
2268952589085. 4

Question Number : 338 Question Id : 226895667814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
The importance of consumer protection from the business point of view includes:
{A) Social respansibility
(B) Government intervention
(C) Business uses its own resources
(D) Long term interest of business

Choose the correct answer from the options given below:

1. (A), (C) and (D) only
2. (A), (B) and (D) only
3. (A), (B), (C) and (D) only
4. (B), (C) and (D) only

Options :

2268952589086. 1
2268952589087. 2
2268952589088. 3
2268952589089. 4



Question Number : 338 Question Id : 226895667814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589086. 1
2268952589087. 2
2268952589088. 3
2268952589089. 4

Question Number : 339 Question Id : 226895667815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

If the workload of a manager is more than his capacity, which of the following can he use to offload the work?

1. Delegation of Authority
2. Span of management
3. Direct communication
4. Close supervision

Options :

2268952589090. 1
2268952589091. 2
2268952589092. 3
2268952589093. 4

Question Number : 339 Question Id : 226895667815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :
2268952589090. 1



2268952589091. 2
2268952589092. 3
2268952589093. 4

Question Number : 340 Question Id : 226895667816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

is a continuous process because new jobs may be created and some of the existing employees may leave the
organisation.

1. Planning

2. Organising
3. Staffing

4. Controlling

Options :

2268952589094. 1
2268952589095. 2
2268952589096. 3
2268952589097. 4

Question Number : 340 Question Id : 226895667816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589094. 1
2268952589095. 2
2268952589096. 3
2268952589097. 4

Question Number : 341 Question Id : 226895667817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following is related to economic dimension of business environment?

1. Modes of transportation communication facilities

2. Life expectancy and expectations from the workforce

3. Legislations passed by the government and regulations laid down by government authorities.
4. Technological developments and innovations

Options :

2268952589098. 1
2268952589099. 2
2268952589100. 3
2268952589101. 4



Question Number : 341 Question Id : 226895667817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952589098. 1
2268952589099. 2
2268952589100. 3
2268952589101. 4

Question Number : 342 Question Id : 226895667818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Controlling improves future by providing information derived from past experience.

1. Controlling

2. Coordinating

3. Communication
4. Planning

Options :

2268952589102. 1
2268952589103. 2
2268952589104. 3
2268952589105. 4

Question Number : 342 Question Id : 226895667818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589102. 1
2268952589103. 2
2268952589104. 3
2268952589105. 4

Question Number : 343 Question Id : 226895667819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



Manju was shopping in a grocery store. She picked up a product and started searching for the FPO mark on the
package. What was the product in her hand?

1. Pickle jar

2. Shirt

3. Bulb

4. Gold necklace

Options :

2268952589106. 1
2268952589107. 2
2268952589108. 3
2268952589109. 4

Question Number : 343 Question Id : 226895667819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589106. 1
2268952589107. 2
2268952589108. 3
2268952589109. 4

Question Number : 344 Question Id : 226895667820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following is a function that brings the management cycle back to the planning function?

1. Organising
2. Coordinating
3. Controlling
4. Directing

Options :

2268952589110. 1
2268952589111. 2
2268952589112. 3
2268952589113. 4

Question Number : 344 Question Id : 226895667820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589110. 1
2268952589111. 2
2268952589112 3
2268952589113. 4

Question Number : 345 Question Id : 226895667821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

‘Compensation refers to all forms of pay or rewards going to employees where some payments are direct and some
are indirect’.

An indirect payment is:

1. Bonus

2. Daily Incentive

3. Commission

4. Employer paid Insurance

Options :

2268952589114. 1
2268952589115. 2
2268952589116. 3
2268952589117. 4

Question Number : 345 Question Id : 226895667821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589114. 1
2268952589115. 2
2268952589116. 3
2268952589117. 4

Question Number : 346 Question Id : 226895667822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



in management is concerned with doing the right task, completing activities and achieving goals.

1. Effectiveness
2. Efficiency

3. Sustainability
4. Quality

Options :

2268952589118. 1
2268952589119. 2
2268952589120. 3
2268952589121. 4

Question Number : 346 Question Id : 226895667822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589118. 1
2268952589119. 2
2268952589120. 3
2268952589121. 4

Question Number : 347 Question Id : 226895667823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

AMPM is a reputed wristwatch company. Foreseeing the changing trend, the management of the company decided to
manufacture smartwatches. This feature of management suggests that:

1. Management is all pervasive.

2. Management is a continuous function.
3. Management is a dynamic function.

4. Management is an intangible force.

Options :

2268952589122. 1
2268952589123. 2
2268952589124. 3
2268952589125. 4

Question Number : 347 Question Id : 226895667823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589122. 1
2268952589123.2
2268952589124. 3
2268952589125. 4

Question Number : 348 Question Id : 226895667824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

"Standardisation refers to the process of setting standards for every business activity; it can be standardisation of
process, raw material, time, product, machinery, methods or working conditions”. The phenomenon of standardisation
was specified by:

1. Koontz

2. Maslow

3. F.W. Taylor
4. Henry Fayol

Options :

2268952589126. 1
2268952589127.2
2268952589128. 3
2268952589129. 4

Question Number : 348 Question Id : 226895667824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589126. 1
2268952589127.2
2268952589128. 3
2268952589129. 4

Question Number : 349 Question Id : 226895667825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



is a philosophy that implies selective dispersal of authority because it propagates the belief that people are
competent, capable and resourceful.

1. Span of management
2. Decentralisation
3. Centralisation

4. Democratic leadership style

Options :

2268952589130. 1
2268952589131.2
2268952589132. 3
2268952589133. 4

Question Number : 349 Question Id : 226895667825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589130. 1
2268952589131.2
2268952589132. 3
2268952589133. 4

Question Number : 350 Question Id : 226895667826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

A very useful training method has been adopted by many training institutes since long by providing real work
environment for trainees. This type of training is termed as:

1. Vestibule training

2. Programmed instruction
3. Internship training

4. Case Study

Options :

2268952589134. 1
2268952589135.2
2268952589136. 3
2268952589137. 4

Question Number : 350 Question Id : 226895667826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589134. 1
2268952589135.2
2268952589136. 3
2268952589137. 4

Question Number : 351 Question Id : 226895667827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following is NOT an aspect of staffing?

1. Training

2. Authority

3. Recruitment
4. Selection

Options :

2268952589138. 1
2268952589139. 2
2268952589140. 3
2268952589141. 4

Question Number : 351 Question Id : 226895667827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589138. 1
2268952589139.2
2268952589140. 3
2268952589141. 4

Question Number : 352 Question Id : 226895667828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following can NOT be considered as an element of directing?

1. Coordination

2. Motivation

3. Communication
4. Supervision

Options :

2268952589142. 1
2268952589143. 2
2268952589144. 3
2268952589145. 4

Question Number : 352 Question Id : 226895667828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589142. 1
2268952589143. 2
2268952589144. 3
2268952589145. 4

Question Number : 353 Question Id : 226895667829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Paras developed a negative attitude towards his work because of his unsatisfactory performance appraisal. Which of
the following may help him to change his attitude?

1. Transfer

2. Leave

3. Motivation
4. Coordination

Options :

2268952589146. 1
2268952589147.2
2268952589148. 3
2268952589149. 4

Question Number : 353 Question Id : 226895667829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589146. 1
2268952589147.2
2268952589148. 3
2268952589149. 4

Question Number : 354 Question Id : 226895667830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

ensures judging the accuracy of the standards.

1. Directing
2. Organising
3. Planning
4. Controlling

Options :

2268952589150. 1
2268952589151.2
2268952589152. 3
2268952589153. 4

Question Number : 354 Question Id : 226895667830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589150. 1
2268952589151.2
2268952589152. 3
2268952589153. 4

Question Number : 355 Question Id : 226895667831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Which of the following cannot file a complaint under the consumer protection act 20197

1. An ignorant consumer

2. A person who obtains the goods without any consideration
3. Legal heir of a deceased consumer.

4. Central government

Options :

2268952589154. 1
2268952589155.2
2268952589156. 3
2268952589157. 4

Question Number : 355 Question Id : 226895667831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589154 1
2268952589155.2
2268952589156. 3
2268952589157. 4

Question Number : 356 Question Id : 226895667832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following cannot be a characteristic of an entrepreneur?

1. Desire to Succeed
2. Risk averse

3. Innovative

4. Leader

Options :

2268952589158. 1
2268952589159.2
2268952589160. 3
2268952589161. 4

Question Number : 356 Question Id : 226895667832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589158. 1
2268952589159. 2
2268952589160. 3
2268952589161. 4

Question Number : 357 Question Id : 226895667833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following factor is NOT responsible for emergence of entrepreneurship?

1. Education

2. Family Background
3. Government Support
4. Future Certainty

Options :

2268952589162. 1
2268952589163.2
2268952589164. 3
2268952589165. 4

Question Number : 357 Question Id : 226895667833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589162 1
2268952589163.2
2268952589164. 3
2268952589165. 4

Question Number : 358 Question Id : 226895667834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



involves setting objectives, developing appropriate courses of action and providing a rational approach to
achieve these objectives.

1. Planning

2. Organising
3. Coordination
4. Controlling

Options :

2268952589166. 1
2268952589167. 2
2268952589168. 3
2268952589169. 4

Question Number : 358 Question Id : 226895667834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589166. 1
2268952589167.2
2268952589168. 3
2268952589169. 4

Question Number : 359 Question Id : 226895667835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

involves synchronisation of the different actions or efforts of the various units of an organization

by providing the requisite amount, quality, timing and sequence of efforts which ensures that planned objectives are
achieved with a minimum of conflict.

1. Planning

2. Organising
3. Controlling
4. Coordination

Options :

2268952589170. 1
2268952589171.2
2268952589172 3
2268952589173. 4

Question Number : 359 Question Id : 226895667835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589170. 1
2268952589171.2
2268952589172 3
2268952589173. 4

Question Number : 360 Question Id : 226895667836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

provide useful insights to managerial behaviour and influence managerial practices.

1. Organisaticnal Objectives

2. Principles of Management

3. Leadership Traits

4. Dimensions of business environment

Options :

2268952589174 1
2268952589175.2
2268952589176. 3
2268952589177. 4

Question Number : 360 Question Id : 226895667836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

, UEY® Y oideR IR Ya4® g HyTal oI gHifad &1 SUarT fdel® UeH $al ¢ |

1. WSS 360

2. sy & f=id

3. 99 @I fgRwarnt

4. GO Uaiaul & S

Options :

2268952589174. 1
2268952589175.2
2268952589176. 3
2268952589177. 4

Question Number : 361 Question Id : 226895667837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following are the limitations of internal sources of recruitment?

{A) The scope for induction of fresh talent is reduced.

(B) Employees are motivated to improve their performance.

{C) The employees may not take challenging tasks if they are sure of time-bound promotions.
(D) Internal recruitment may boost the competitive environment in the organisation.

Choaose the correct answer from the options given below:

1. (A) and (D) only

2. (A) and (C) only

3. (A), (B) and (D) enly
4.(B), (C) and (D) only
Options :
2268952589178. 1
2268952589179.2
2268952589180. 3
2268952589181. 4

Question Number : 361 Question Id : 226895667837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

fFafafed € oF 9 FfEaesu & sfiaRke 9idl &1 9 3 2

(A) T2 UfquTaT i IR o &1 AW HH gl il o

(B) BHART AU e § QuR & & R U gld 81

(C) 9fE PHAN THEEE aeH & AR H (A € o d gdIgYl &1 T8l B Fohd ¢
(D) iR Yl T ¥ ufowyfas uaiau o) 9g@ ¢ 9&dl 8l

i few U fawed! | 9 9@ SW T

1. Had (A) 3R (D)
2.%ad (A) 3R (O)
3. Had (A), (B) 3R (D)
4. dGd (B), (C) ¥R (D)

Options :

2268952589178. 1
2268952589179. 2
2268952589180. 3
2268952589181. 4

Question Number : 362 Question Id : 226895667838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following are identified as features of a profession?
{A) Well-defined body of knowledge

(B) Existence of theoretical knowledge

{C) Entry restricted on the basis of examination or education

(D) Dominance of service motive

Choose the correct answer from the options given below:

1. (A), (C) and (D) only
2. (A), (B} and (C) only
3. (&), (B), (C) and (D)
4. (B), (C) and (D) only
Options :

2268952589182 1
2268952589183.2
2268952589184. 3
2268952589185. 4

Question Number : 362 Question Id : 226895667838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

fFafafed 7 § fod 59 02 &1 faguaret & ¥ 9 H ggam1 9 6 2
(&) FaRMIYE I & o

(6 gifa® 79 @1 sifda

(C) TR 41 I8 & SMYR TR g9 uidaidd

(D) ¥ IE =G BT U

i faw o fased! § 9 wdt S I

i Eﬁm (A), (C) 3R (D)
2.%4d (A), (B) 3R (O)
3.(A). (B). (Q) 3R (D)

4.%4d (B), (C) ¥R (D)

Options :

2268952589182. 1
2268952589183. 2
2268952589184. 3
2268952589185. 4

Question Number : 363 Question Id : 226895667839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Planning is an important function of management which involves defining the following:
{A) Setting objectives

(B) Deciding on plans, actions and strategies to achieve organisational goals

(C) Allocating and arranging resources

(D) Motivating and inspiring people to perform better

Choose the correct answer from the options given below:

1. (&), (B) and (D) only
2. (A) and (B) only
3. (A), (B) and (C) only
4. (A) and (C) only

Options :

2268952589186. 1
2268952589187. 2
2268952589188. 3
2268952589189. 4

Question Number : 363 Question Id : 226895667839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fatem, uey @1 Ue dewayul & ¢ forgd Fafafaa o ot oo affd &
(A) Ti&g RO

(B) TS Tedl B Wit od Graied, @1 3R oHaal 1R g oA

(C) TT1eH! BT ATde 3R Hagd

(D) T BT IgaR e ag IR 3R WiedTed @l

2 few e fawed! & € Odt SR T

1. ®ad (A), (B) 3R (D)

2.%ad (A) 3R (B)

3. Had (A), B}G?N[C)

4. ®ad (A) AR (Q)

Options :

2268952589186. 1
2268952589187. 2
2268952589188. 3
2268952589189. 4

Question Number : 364 Question Id : 226895667840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Controlling is important for the following reasons

{A) Judging Accuracy of Standards

(B) Ensuring creativity in the organisation

{C) Facilitating Coordination in Action

{D) Making Efficient Use of Resources

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4. (A

), (B} and (D) only
) (B) and (C) only
), (B), (C) and (D)
), (C) and (D) only
Options :
2268952589190. 1
2268952589191.2
2268952589192. 3
2268952589193. 4

Question Number : 364 Question Id : 226895667840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fofafaa srul 9 g aeagy 8
(A) HF®] &I Gélddl ®I Fug &l

(B) TG H TS GHIEd B

(C) PridTe! H THGY B! GAYeH-d S
(D) TUTEAT & DA ITTR BT
T f&u 1 fased! H 9 W&l 3wk g+

1.9ad (A), (B) 3R (D)
2.%4d (A), (B) 3R (O

3. (A), }[C)aﬁ?D}
4&ﬁmf-\) ) 3R (D)

Options :

2268952589190. 1
2268952589191. 2
2268952589192. 3
2268952589193. 4

Question Number : 365 Question Id : 226895667841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-1l

List-1 List-11
Principles Statement
(A) Equity () To ensure obedience to organizational rules

(B) Unity of direction |(Il) Kindliness and justice in the behavior of managers towards workers

(C) Order (Il A group of activities with common objectives must have one head and one plan

(D) Discipline (IV) Every employee must be in his appointed place

Choose the correct answer from the options given below:

T.(A) - (1), (B) - (1N, (C) - (V). (D) - (1)
2. (A) - (1), (B) - (1), (C) - (), (D) - (IV)
3. (A) - (0. (B) - (1. (C) - (V). (D) - (1)
4. (A) - (1, (B) - (IV), (©) - (), (D) - (1)

Options :

2268952589194. 1
2268952589195. 2
2268952589196. 3
2268952589197. 4

Question Number : 365 Question Id : 226895667841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

-1 BT GA-1 & 1Y FHaH D

-1 -1l
i U
(A) I (1) SiTaTHS FH! &1 U AT S
(8) P&z @ Toa (IN) WEYa! & SHETdl & Wid 0deR H gl SR A
(C) HTGR (I11) FHH 3= arel feparbendl & YHE $1 U ol UHE 3R U@ o dieHl gi-1 aliey
(D) SR (IV) Ui BHARI B1 30 FRad ©IF TR 841 9118T
e feu e fawenl & © W@ SR |

1. (A)-(), (B)=(m), (C)-(1V), (D)-(1)
2. (A)-(1). B)-(1), (C)-(10), (D)-(IV)
3. (A)-(, (B)-(11), (Q)-(1V), (D)-(111)
4. (A)-(n), (B)-(1v), (©)-(1), (D)-(1N)

Options :

2268952589194. 1
2268952589195.2
2268952589196. 3
2268952589197. 4

Question Number : 366 Question Id : 226895667842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Match List-1 with List-1l

List-1 List-1I
(A) Strategy (I) Prescribed way of doing a task
(B) Method (I} Detailed statements about a project

(C) Programme  |(lll) Exact manner in which a particular activity is to be done

(D) Procedure  |(IV) Comprehensive plan for accomplishing objectives

Choose the correct answer from the options given below:

1. (A) - (1V), (B) - (1), (C) - (1), (D) - (1)
2.(A) - (). (B) - (), (C) - (), (D) - (IV)
3. (A) - (V), (B) - (1), (©) - (), (D - (1)
4. (A) - (), (B) - (IV), (@) - (), (D) - (1)

Options :

2268952589198. 1
2268952589199.2
2268952589200. 3
2268952589201. 4

Question Number : 366 Question Id : 226895667842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT G-I B 1Y HeH B

a1 TaI-1
(A) TOHEIT () 758 B & & @l [AiRa ant
(B) Ufafd ) f ! afagiemT & aR | fawgd Garo
(C) BTdHT (1) 98 @ il fored e [y e @ o 8
(D) ufspan (V) Se=a1 @ G B & (ol g Jie
e fou U fomedl & 9 98 SR I

1. (A)-(V), (B-(I), (C)-(1n), (D)-()
2. (A)-0n, (B)-(0, (©)-(1), (D)-(1V)
3. (A)-(V), (B)-(1), (C)-(m). (D)-(111)
4. (A)-(), (B)-(IV), (O-(). (D)-(IN)

Options :

2268952589198. 1
2268952589199.2
2268952589200. 3
2268952589201. 4

Question Number : 367 Question Id : 226895667843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Match List-1 with List-1l

List-1 List-11

Business Environment Dimension

(&) Economic () KYC compliance is mandatery in mutual funds investment

(B) Social (1) Construction companies prefer low longer-term interest rates

(C) Legal (1) The government maintains general stability and peace in the country
(D) Political (IV) Rise in demand for goods during festivals

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), () - (1), (D) - (1)
2.(A) - (1), (B) - (1N, (C) - (0, (D) - (V)
3. (A) - (1), (B) - (1), () - (V) (D) - (1)
4. (A) - (1, (B) - (V), (Q) - (D, (D) - (1)

Options :

2268952589202. 1
2268952589203. 2
2268952589204. 3
2268952589205. 4

Question Number : 367 Question Id : 226895667843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 D1 -1 & 91y FHaH D

-1 -1l
IS qgiawo STaTH
(&) 3T () 3=1-g-FT8 o= F 'e1u- 915 &I S @1 sai suRed g1
(B) TS () FaTor dufat siea Srdaiied sarsl oXf &l Udg Sl 8l
() &ftrm (1ll) TRHR &7 H Frarg R 3R gifd §91e wa@di 8
(D) TiHifa®s (v) TIBRT & SRMFE a&gfl &1 771 H g
1 feu T fged! 3 9 Wl S I

1. (A)-(1), (B)-(IV), (C)-(1). (D)-(111)
2. (A)-(11), (B)-(li), (C)-(1), (D)-(1V)
3. (A)-(n), (B)-{1), (Q)-(1V). (D)-(111)
4. (A)-(), (B)-(1v), (-, (D)-(1N)

Options :

2268952589202. 1
2268952589203. 2
2268952589204. 3
2268952589205. 4

Question Number : 368 Question Id : 226895667844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-1l

List-1 List-1l

Importance of Organising Description

(A) Development of personnel  |(I) Survive and grow in spite of changes

(B) Adaptation to change (1) Stimulating creativity amongst the managers
(C) Expansion and growth (1) Clear description of jobs to avoid confusion
(D) Effective administration (IV) Allowing a business enterprise to add more job positions and departments

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (), (Q) - (1), (D) - (V)
2.(A) - V), (B) - (1), (©) - (1), (D) - (1)
3. (A) - (V). (B) - (IN), (C) - (1), (D) - (1)
4. (A) - (1, (B) - (1), (©) - (V). (D) - ()

Options :

2268952589206. 1
2268952589207. 2
2268952589208. 3
2268952589209. 4

Question Number : 368 Question Id : 226895667844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 D1 A-10 & 1Y FHaH $e

-1 -1
e &1 HEd CLG
(A) SHTIRGl F1 fae™ (1) Rl & s1age faemH 38 ok ¢
(B) URGHH B HIEHTH (1) HE D! & g TWEEGAl @] Ucdlied Sl
() fo=R 3R faerg () Y9 ¥ 99 & fau &M &1 Wy fa@wmo
(D) THTdT TR (V) Ueh SHTae1ies 3 @l Sifdd el SR f[AHRT &l Wis- @ <Al oAl
Fd feu 7 fawenl 4 9 wEt SR -

1. (A)-(1), (B)-(n), (C)-(1), (D)-(IV)
2. (A)-(V), (BY-(1m), (C)-(1). (D)-(IN)
3. (A)-(V). (B)-(). (C)-(0. (D)-(11D)
4. (A)-01, (B)-(1), (©)-(IV). (D)-(111)

Options :

2268952589206. 1
2268952589207. 2
2268952589208. 3
2268952589209. 4

Question Number : 369 Question Id : 226895667845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-1l

List-1 List-1i

(A) Supervision (1) Process of exchange of ideas, views, facts, feelings etc

(B) Motivation () Encouraging subordinates with zeal to work

(C) Leadership (Il Direct and immediate guidance and control of subordinates

(D) Communication |(IV) Guiding and influencing the work of subordinates in desired direction

Choose the correct answer from the options given below:

1. (A) - (1, (B) - (1), (C) - (V). (D) - ()
2. (A) - (1), (B) - (1), (C) - (), (D) - (V)
3. (A) - (1), (B) - (In), () - (1V), (D) - (1)
4. (A) - (), (B) - (V). (C) - (I, (D) - (1)
Options :

2268952589210. 1

2268952589211.2

2268952589212. 3

2268952589213. 4

Question Number : 369 Question Id : 226895667845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT -1l B 1Y FHeH B

-1 -1l
(A) TUdEO () Taart, ePain, aul, wigiedl onfe & eE-UeH &I Ui
(B) AFEEROT (1) TR @ I8 & 1Y B $H & oL Uiediied Sm
GEGE: (1) eI @7 U AR dapTa AriaRH SR Fam
(D) TUH (V) SiEf=IT & 1 Pl aifesd fG= H M R &1 AR guifad &1
= fau T fowegl o 9 Wt SR T

1. (A)-(ln), (B)-(n), (C)-(1V), (D)-(1)
2. (A)-(0). (B)-(1), (C)-(1), (D)-(1V)
3. (A)-(1). (B)-(1), (C)-(1V), (D)-(111)
4. (A)-(1), (B)-(v), (C)-(0, (D)-(I

Options :

2268952589210. 1
2268952589211.2
2268952589212. 3
2268952589213. 4

Question Number : 370 Question Id : 226895667846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the following steps of planning process in a logical sequence
{A) Making certain assumptions about the future

(B) Selecting the best possible and viable alternative

{C) Weighing the pros and cons of each alternative

(D) Monitering the plan to ensure that objectives are achieved
Choose the correct answer from the options given below:

(B). (C
(€ (B
(B), (A), (D), (C
(C), (B), (D). (A)

. (D)

(A,
v , (D

)
(A) )

I

et

i
A
A
4.

Options :

2268952589214. 1
2268952589215. 2
2268952589216. 3
2268952589217. 4

Question Number : 370 Question Id : 226895667846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

fare uferar & FefaRed ol &1 T diitbe o H Jafyd o3
(a) 4™ & SR & T YROME 11

(B) TYRIHT 3R de faded &I 99 S|

(C) Ui [debed & 1Y g §I BT e BTl

(D) Foxa! B! Uit YA @3- & O g & FRET &
ia f&u T fae el # 9 9ét IR -

Options :

2268952589214. 1
2268952589215.2
2268952589216. 3
2268952589217. 4

Question Number : 371 Question Id : 226895667847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following stages of staffing process in the correct order.
{A) Searching for employees and stimulating them to apply

(B) Issuing offer letter

(C) Giving a brief presentation about the company

(D) Determining the number of persennel required for vacant positions

Choose the correct answer from the options given below:

Options :

2268952589218. 1
2268952589219.2
2268952589220. 3
2268952589221. 4

Question Number : 371 Question Id : 226895667847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Frafdae e ufsha & FafiiEd @Rl o1 J8l 4 H oaied 31
(A) DHARG BT Wl 3R FT Hde- I & (o8 UiHied BT
(B) UTd-U= fRiEA

(C) PO & SR H U Hi Wi

(D) R ual & o sawns gl &1 e FHuRo

T gy 7t el # 4 Wl IR I

A). (B), (O, (D)
A). (©). (B), (D)
D). (A), (B). (C)
Q. (B). (D), (A)

1.
2.0
3.(
4,

Options :

2268952589218. 1
2268952589219. 2
2268952589220. 3
2268952589221. 4

Question Number : 372 Question Id : 226895667848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following stages of motivation in order.
{A) Unsatisfied need

(B) Search behavior

(C) Drives

(D) Reduction of tension

Choose the correct answer from the options given below:

Options :

2268952589222. 1
2268952589223. 2
2268952589224. 3
2268952589225. 4

Question Number : 372 Question Id : 226895667848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

SHFHIRUT & FRfcREd SRl i $H H SHalyd Bv;
(A) SFUGE SMaRTDIl

(B) 3{-dYU] THAER

(C) IROmg

(D) TG @I BTH

&y ¢ fowed! & 9 Wt SR -

Options :

2268952589222. 1
2268952589223. 2
2268952589224. 3
2268952589225. 4

Question Number : 373 Question Id : 226895667849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following steps of controlling process in a correct sequence.

{A) Correcting the situation in accordance with the decision.

(B) Projecting the future and determining the goals and standards of performance.
{C) Measuring and comparing the work in terms of control standards.

(D) Promptly investigating the causes of the deviation.

Choose the correct answer from the options given below:

@]

B), (C)
A) (C)
B), (A)
Q). (B)

—
—

— =
d
A

1.
2.
3.
4.

—

Options :

2268952589226. 1
2268952589227. 2
2268952589228. 3
2268952589229. 4

Question Number : 373 Question Id : 226895667849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

A ufshar & Fafiad <ol &1 U el HH H Haleyd Be:

(A) Mg & ER YT B &l ST

(B) HITS @1 SITHM TIHT R Fvare @& Tedl SR AF®! @ R &
(C) Fa=0 A | & HgH H B1H B A9 SR quHl Bl

(D) fade & BRI &I gid wild HA1
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S
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Options :

2268952589226. 1
2268952589227.2
2268952589228. 3
2268952589229. 4

Question Number : 374 Question Id : 226895667850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following steps of organising process in a logical order.
{A) Grouping similar activities

(B) Dividing the work according to the plan

{C) Establishing clear relationships to create a hierarchal structure
(D) Allocating work to various employees

Choose the correct answer from the options given below:

Options :

2268952589230. 1
2268952589231. 2
2268952589232. 3
2268952589233. 4

Question Number : 374 Question Id : 226895667850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

134 ufgsar & FHufiRed Rull &I dlide HH § aikid o1
(A) IO TTiafafeal &1 gged
(B) TISHI & SIER &1 &I f[qyeH

(C) Ueh UGIsh Hd U1 a1 & [o T ddy ®IMAd &A1
(D) fafirs sdafal &t &1 &1 dea
74 fau e faedl 4 § |8t IR g

1. (B). (A}, (), (D)
2. (A), (C). (B), (D
3. (B), (A). (D), (C
4.(Q). (8)

—

(
(D), (A)

Options :

2268952589230. 1
2268952589231. 2
2268952589232 3
2268952589233. 4

Question Number : 375 Question Id : 226895667851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following statement is true regarding the nature of Management?

1. It has features of both Science and Art.
2.ltis not an Art.

3.Itis an exact Science,

4. 1t is a fully recognized Profession.

Options :

2268952589234. 1
2268952589235.2
2268952589236. 3
2268952589237. 4

Question Number : 375 Question Id : 226895667851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fafefad ¥ 1 91 &Y= udy & UPid & dae H et o 7

1. 594 394 3R o aF| &1 [92ward gl
2. 9g &l el &l

3. 9% U 9Ua @ 5l
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Options :

2268952589234. 1
2268952589235. 2
2268952589236. 3
2268952589237. 4

Sub-Section Number : 2
Sub-Section Id : 22689527340
Question Shuffling Allowed : No

Question Id : 226895667852 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (376 to 380)

Read the passage and answer the following questions:

Aroma Coffee House, a boutique cafe, aims to expand its brand by focusing on the marketing mix. The product is its artisanal
coffee, known for unique flavors and organic ingredients. The café ensures appealing packaging, using recyclable and
aesthetically designed coffee bags to align with eco-conscious consumers. Its branding strategy emphasizes sustainability and
local community support, making it a trusted choice.

The pricing is premium, reflecting the high quality of the coffee beans and exclusivity. They also apply psychological pricing, like
$4.99, to appeal subtly. The place involves both a cozy café experience and an online delivery service to cater to a broader
audience. For promotion, Aroma relies on social media marketing, influencer collaborations, and loyalty programs.

In line with their marketing philosophy, the cafe follows a societal marketing concept, prioritizing the welfare of customers and
the environment. For instance, they source coffee ethically and support local farmers. Their labeling highlights critical attributes
like "organic,” "fair trade," and "hand-roasted,” catering to health-conscious customers while ensuring clarity and compliance
with regulations.

Aroma’s integrated approach ensures its appeal to both loyal customers and new markets, balancing ethics with profitability.

Sub questions



Question Number : 376 Question Id : 226895667853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following is NOT a component of Marketing Mix?

1. Product

2. Price

3. Placement
4. Promation

Options :

2268952589238. 1
2268952589239.2
2268952589240. 3
2268952589241. 4

Question Number : 377 Question Id : 226895667854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

What does labeling provide to customers?

1. Packaging Design

2. Product Information

3. Product Protection

4. Enhances quality of the product

Options :

2268952589242. 1
2268952589243. 2
2268952589244. 3
2268952589245. 4

Question Number : 378 Question Id : 226895667855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
What is Aroma Coffee House's primary branding focus?

1. Cost effectiveness
2. Sustainability

3. Luxury

4. Speed

Options :

2268952589246. 1
2268952589247.2
2268952589248. 3
2268952589249. 4

Question Number : 379 Question Id : 226895667856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



Which marketing mix component involves advertising?

1. Product

2. Price

3. Place

4. Promation

Options :

2268952589250. 1
2268952589251.2
2268952589252 3
2268952589253. 4

Question Number : 380 Question Id : 226895667857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
What type of packaging does Aroma Coffee House use?

1. Plastic bags

2. Recyclable materials
3. Aluminium Cans

4. Glass Jars

Options :

2268952589254. 1
2268952589255.2
2268952589256. 3
2268952589257. 4

Question Id : 226895667852 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (376 to 380)
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Sub questions

Question Number : 376 Question Id : 226895667853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



fFofafed & 4 o fauuH Ay 1 9ca T8l & 7

1. 3AE (WISET)

2. B (U1 9)

3. AT (T
4, Gadq (dHEEE)

Options :

2268952589238. 1
2268952589239. 2
2268952589240. 3
2268952589241. 4

Question Number : 377 Question Id : 226895667854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

AT Ue®! & 71 UeH $dl o 2

1. UefoiT 3ifidey

2. IdE @ TSR]

3. 3TE HIaq

4. 3G B 70T Sl 5|

Options :

2268952589242 1
2268952589243. 2
2268952589244. 3
2268952589245. 4

Question Number : 378 Question Id : 226895667855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589246. 1
2268952589247. 2
2268952589248. 3
2268952589249. 4

Question Number : 379 Question Id : 226895667856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



&y faure fay oo ¥ oo e 8 7

1. 3G (WISE)
2. B (I1R9)

3. R (@)

4. Yg¥H @)

Options :

2268952589250. 1
2268952589251. 2
2268952589252. 3
2268952589253. 4

Question Number : 380 Question Id : 226895667857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

SR BIP! 5134 [hd TSR & bl &1 Suai Sidl g ?

1. @Ife® & Od
2. G-Tde01 O IRl

3. HegHIATH & f3ed
4. g & AdaH

Options :

2268952589254 1
2268952589255.2
2268952589256. 3
2268952589257. 4

Sub-Section Number : 3
Sub-Section Id : 22689527341
Question Shuffling Allowed : No

Question Id : 226895667858 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (381 to 385)



Read the passage and answer the following questions:

GreenTech Solutions, a renewable energy company, focuses on achieving financial stability and growth through robust financial
management. The company ensures efficient allocation of business finance to expand operations, adopt new technology, and
maintain a competitive edge. lts financial planning is centered on long-term sustainability, balancing profitability with eco-
friendly initiatives.

To optimize its capital structure, GreenTech maintains a balanced mix of debt and equity, minimizing the cost of capital while
ensuring financial flexibility. The firm undertakes thorough capital budgeting processes to evaluate projects like setting up new
solar farms, ensuring only viable investments are pursued. Tools like Net Present Value (NPV) and Internal Rate of Return (IRR)

guide decision-making.

GreenTech's dividend decision aligns with its growth strategy. While retaining a significant portion of earnings for reinvestment,
the company ensures consistent dividends to satisfy shareholders. This approach strengthens investor confidence while funding
expansion plans.

Efficient working capital management ensures smooth day-to-day operaticns. By optimizing cash flow, managing inventory, and
negotiating favorable credit terms with suppliers, GreenTech avoids liquidity issues while meeting short-term obligations.

Through prudent financial strategies, GreenTech achieves its goal of profitability and sustainability, setting an example in the
renewable energy sector.

Sub questions

Question Number : 381 Question Id : 226895667859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
What is the primary goal of financial management?

1. Maximizing revenue

2. Maximizing shareholders’ wealth
3. Minimizing expenses

4. Expanding the business

Options :

2268952589258. 1
2268952589259. 2
2268952589260. 3
2268952589261. 4

Question Number : 382 Question Id : 226895667860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Which process evaluates the viability of long-term investment projects?

1. Capital Budgeting

2. Working capital management
3. Dividend decisions

4. Financial leverage

Options :

2268952589262. 1
2268952589263.2
2268952589264. 3
2268952589265. 4

Question Number : 383 Question Id : 226895667861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

Financial Planning of a company is essentially known as 7

1. Finance

2. Financial blueprint

3. Shareholders’ wealth

4. Operations management

Options :

2268952589266. 1
2268952589267.2
2268952589268. 3
2268952589269. 4

Question Number : 384 Question Id : 226895667862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
What does GreenTech prioritize in working capital management?

1. Expanding inventory
2. Eliminating liabilities
3. Increasing dividends
4. Optimising cashflow

Options :

2268952589270. 1
2268952589271. 2
2268952589272 3
2268952589273. 4

Question Number : 385 Question Id : 226895667863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Which component is NOT a part of GreenTech's financial management?

1. Pricing Strategy
2. Capital Structure
3. Financial Leverage
4. Dividend decisions

Options :

2268952589274. 1
2268952589275. 2
2268952589276. 3
2268952589277. 4

Question Id : 226895667858 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (381 to 385)
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Sub questions

Question Number : 381 Question Id : 226895667859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

ferdta weie o1 UTuftis deg AT © 2

1. 31 &1 BB
2. SRURG] &1 YUl &1 sfsaiiao
3. o0 B AdHIHI0

4. S0gY & faearo

Options :

2268952589258. 1
2268952589259. 2
2268952589260. 3
2268952589261. 4

Question Number : 382 Question Id : 226895667860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. GoilvTd geie

2. BRI dolt uefeH
3. TR Fofg

4. forfg oaia®

Options :

2268952589262. 1
2268952589263. 2
2268952589264. 3
2268952589265. 4



Question Number : 383 Question Id : 226895667861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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1. fa

2. forda wu-mar

3. SIRYRSG| B U
4. i Uey

Options :

2268952589266. 1
2268952589267.2
2268952589268. 3
2268952589269. 4

Question Number : 384 Question Id : 226895667862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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2. cgars & f[adig=

3. AU i
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Options :

2268952589270. 1
2268952589271. 2
2268952589272. 3
2268952589273. 4

Question Number : 385 Question Id : 226895667863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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1. Heg IO
2. Uit =

3. faeig Iics
4. Ty Fofg

Options :

2268952589274. 1
2268952589275. 2
2268952589276. 3
2268952589277. 4



